FrYLUoUME14 FHEODIX) ' KA

HlEEEZSZIZLT, TXRLTHELZFLLS,
(BIRE1Y) 38+54+42+16
= (88442) + (54+16) =80+70=150

X ELEDIBRZANDZA TEHELE T,
(1) 45+71+25+29

(2) 33+26+57+14

(fIE2) 25x16
= (25%4) x4=100%x4=400

X T25X4=100] ZNAHAUTGIE LT,

(3) 25x24

(4) 32x25

(BIE3Y 4.3—1.84+3.7—2.2
= (4. 343.7) — (1.842.2) =8—4=4

% TA—B+C—D= (A+C) — (B+D)J ZRBELUGIELEY,

(5) 5.1—3.6+4.9—1.4

(6) 3.75—1.85+5.25—4.15

(BIE4Y 6.7x35+6.7%Xx65
=6.7%X (35465) =6.7%Xx100=670

X TAXBH+AXC=AX (B+C)] ZNAUTGHELET,

(7) 2.5x784+2.5x22

(8) 55.6x3.144+62.3xXx3.14—17.9%x3.14



FyLUoUMRE14 (FTEODIX) 8% - iR

EFLEDIEFZANNZTHELET,

(1) 454+71+25+29
= (45+25) + (71+29) =70+100=170

(2) 33+26+57+14
= (33+57) + (26+14) =90+40=130

25x4=100] #FIALTCEHELZEY,

(3) 25x24
= (25%x4) x6=100%xXx6=600

(4) 32x25
=8X (4x25) =8x100=800

TA—B+C—D= (A+C) — (B+D)J] ZRABELUTHELZXT,

(5) 5.1—3.6+4.9—1.4
=(5.1+4.9) — (3.64+1.4) =10—5=5

(6) 3.75—1.854+5.25—4.15
= (3.754+5.25) — (1.854+4.15) =9—6=23

TAXB4+AXC=AX (B+C)] 2F8ALTHELZT,

(7) 2.5x784+2.5x22
=2.5x (784+22) =2.5x100=250

(8) 55.6x3.144+62.3xXx3.14—17.9%x3.14
= (55.6+62.3—17.9) x3.14=100%x3.14=314

[#253] 3.14=A, 55.6=B, 62.3=C, 17.9=D¢9 3¢,
BXA+CXA—DXA= (B+C—D) xAthHYZxd,



